H3S (5 GPa) Structure:
A3B 0l32 23 ef2k k-001

This structure originally had the label A3B_oI32_23_ij2k k. Calls to that address will be redirected here.
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Prototype HsS

AFLOW prototype label A3B_0l32_23_ef2k_k-001
ICSD none

Pearson symbol ol32

Space group number 23

Space group symbol 1222

AFLOW prototype command aflow --proto=A3B_oI32_23_ef2k_k-001
—~params=a, b/a’7 C/av X1,T2,T3,Y3,23,T4,Y4,24,T5,Y5, %5

e This structure is found in H3S in the pressure range 3.5-17 GPa. The data presented here was taken at 5 GPa.

Body-centered Orthorhombic primitive vectors
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al
a; = —3aX+3by+icz
az = jaX—3by+3c2
ag = saX+3by—icz
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = T1as + 1 a3 = ar1 X (4e) HI
B, = —T1ay — x1as = —ar1 X (4e) HI
B3 = %al + (.232—|— %) as + ro as = C(,J?Qf(-f- %Ci (4f) HII
B4 = %al — (SCQ — %) Ay — X2 aAs = —axr2 b'e + %Cﬁ (4f) HII
Bs = (ys + 2z3) a1 + (3 + 23) as + = arsX +bysy + cz3 (8k) H III
(z3 +y3) a3
Be = — (y3 — 2’3) a; — (.1‘3 — 23) ag — = —axrs X — by3 y + cz3 Z (81{) H III
(z3 +y3) a3
By = (y3 — 2z3) a1 — (w3 + 23) a2 — = —ax3X+bysy —cz32 (8k) H III
(3 —y3) a3
Bs = — (y3 + 2’3) a; + (.Z‘g — 23) as + = ar3X —bysy —cz32 (Sk) H III
(3 —y3) a3
By = (ya + 24) a1 + (x4 + 24) a2 + = axs X +bysy + cz4 (8k) HIV
(4 +y4) a3
Bio = —(ya—2z4)a;—(v4—24) 82— = —ars X —bys§ +cz4Z (8k) HIV
(4 +ya) a3
B11 = (y4 — Z4) a; — (1’4 + 24) as — = —Qaly }A( =+ by4 5’ — CZ4 2 (81{) H IV
(14 —y4) a3
Bi2 = —(yatz4) a1+ (xg—24) a0+ = arsX —bysy — cz4 Z (8k) HIV
(4 —ya) a3
Bis = (Ys + 25) a1 + (w5 + 25) az + = axs X+ bys ¥ + cz5 (8k) ST
(75 +ys5) a3
Bis = —(ys—25) a1—(v5—25) as— = —ax5X —bysy +cz52 (8k) S1I
(x5 +ys) a3
Bis = (ys — 25) a1 — (w5 + 25) az — = —ars X +bysy —cz52 (8k) S1
(5 —ys5) a3
Big = —(ys+z)a+(z5—25)a+ = arsX —bysy — cz5 2 (8k) S1

($5 - ys) ag
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